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1 « WED company try to find out what is going to affect the loan rate. Sara is a manager in WED company
and she choose some factors and data are collected. Some results are listed as the following:

Analysis of Variance
Sum of Mean

Source DF Squares Square F Value Pr>F
Model (A) 4488 ( B) ( C) <.0001
Error 860 (D) 4528292
Corrected Total (E) 4343]
Root MSE 6.72926 R-Square 0.1033
Dependent Mean 5.69408 Adj R-Sq 0.1012

Parameter Estimates

Parameter Standard

Variable DF Estimate Error t-Value
Intercept ] 6.56256 0.27208 24.12
ROA | -).86162 0.81112 ()
SIZE 1 -3.01277 4.90469 (G)

According the above , please answer the following questions:
(1) What method and factors did Sara use? What is the relationship between loan and factors Sara chose?
How did these factors Sara chose do in explaining the loan?(5%)

(2) Fill out those numbers for A~ B~C-D~E~F -+ G (7%)

(3) Do all the factors Sara chose significant in explaining the loan? Why?(5%)
(4) Do you think this model is suitable ? Please describe your reason. (3%)
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3 + Given the following model
Yi= a+é&
Where &,~N(0, o* X)), E( £,,€,)=0, (i#)),and X is nonstochastic. Find the best linear unbiased estimator

of a and its variance.(10%)
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FI¥ERE (Y) PAMAE (X)

1 0.36 8.8
0.21 . 9.4
10
4 0.20 10.6 ]
5 0.10 11.0
: 6 0.12 11.9
7 | 04l 127 ]
g 0.50 13.5
9 0.43 14.3
10 0.59 15.5
11 0.90 16.7
12 | 0.95 17.7
13 0.82 18.6 ]
14 1.04 19.7
15 | 1.53 21.1
16 1.94 22.8
¥ 75
18 1.99 25.2
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